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FOREWORD

The National Examinations Council of Tanzania (NECTA) is pleased to issue the
Candidates” Item Response Analysis (CIRA) report for the Certificate of
Secondary Education Examination (CSEE), which was done in November and
December 2021. The report has been prepared in order to give feedback to
education administrators, school managers, teachers, candidates and other
educational stakeholders on the performance of the candidates in the Literature in
English subject examination.

The report provides a comprehensive analysis of the candidates’ responses to each
question based on their relevance and correctness. It highlights factors which
contributed to the achievements of the candidates as well as the challenges which
were faced by different candidates in answering questions correctly. The analysis
done in each item shows that the candidates who had high scores demonstrated
good mastery of literature in reading literary works including novels/short stories,
plays and poetry. They also showed their understanding of different literary
concepts from literary works.

There were candidates whose performance was moderate due to moderate quality
of their responses. In contrast, there were candidates who got low marks. Their
performance was categorised as weak due to low mastery of literary concepts and
unfamiliarity with the recommended texts.

The National Examinations Council of Tanzania (NECTA) expects that teachers
and other educational stakeholders will use the feedback provided in this report
and the recommendations given to improve the teaching and learning of Literature
in English in secondary schools. Hence the performance on the Certificate of
Secondary Education Examinations and other examinations administered by
NECTA in the future will be raised. The Council invites comments and
suggestions from all education stakeholders in order to improve the CSEE CIRA
reports in the future.

Finally, the Council would like to thank the examination officers, examiners and
all other stakeholders who, in their different capacities, participated in preparing
and analysing the data used in this report. NECTA equally thanks all those who
participated in the editing and ultimately the printing of this report.

Dr. Charles E. Msonde
EXECUTIVE SECRETARY



1.0

INTRODUCTION

This report provides the analysis of the performance of the candidates who
sat for the 024 - Literature in English for the Certificate of Secondary
Education Examination (CSEE) done in November, 2021. The Literature in
English examination of 2021 was set in accordance with the new
examination format issued by NECTA in February 2019 which aims at
testing candidates’ competence. According to the format, the 024 -
Literature in English examination was organised into three sections: A, B
and C with a total of ten (10) questions.

Section A consisted of two questions; questions numbered 1 and 2.
Question 1 consisted of ten (10) multiple choice items, each item carried 01
mark which made a total of 10 marks. In this question, the candidates were
required to choose the correct answer from the given alternatives by writing
the letter of the correct answer beside the item number in the answer
booklet provided. Question number two (2) was the matching item question
which consisted of List A and List B. List A had five (5) descriptions of
narratives which were to be matched with their respective types of
narratives from List B. Each correct matching was worth 1 mark to make a
total of 5 marks.

Section B consisted of four short answer questions; questions numbered 3,
4, 5 and 6 with a total of 40 marks in which each question was worth 10
marks. Candidates were required to answer all the questions in this section.
Section C consisted of 4 essay-type questions: questions numbered 7, 8, 9
and 10. Candidates were required to answer questions 7, 8 and either of
question 9 or 10. Therefore, section C had a total of 45 marks in which each

question was worth 15 marks.



This report provides a detailed analysis based on the candidates’
performance per item. The analysis shows the percentage of performance at
three levels, namely good (65 to 100 %), average (30 to 64 %) and weak (0O
to 29 %). Three colours have been used to denote the performance whereby
green indicates good performance, yellow stands for average performance
and red represents weak performance. Additionally, the analysis of the
candidates’ performance in all items will be accompanied by extracts that

serve as piece of evidence on how the candidates responded.

A total of 90,207 candidates sat for the CSEE 2021 Literature in English
examination. Among them 71,165, which is equivalent to 79.56 per cent,
passed the examination with different grades. This indicates that the
performance was higher in 2021 than in 2020, whereby 70.12 per cent of
candidates passed with different grades as shown in table 1.

Table 1: Comparison of candidates’ pass grades in CSEE in 2020 and
in 2021

Year 2021 2020
Grades A |[B |C D F |A |B C D F
Percentage | 1.4 | 6 37 33 |20 |06 |4 31 32 | 29.7

This performance of 79.56 per cent indicates that in 2021 the performance
has increased by 9.44 per cent when compared to 2020 performance
whereby 70.12 per cent of candidates passed with different grades, as

shown in Table 1 above.
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ANALYSIS OF THE CANDIDATES’ PERFORMANCE ON EACH
QUESTION

SECTION A: MULTIPLE CHOICE AND MATCHING ITEMS

This section consisted of two compulsory questions, questions 1 and 2. The
section had 15 marks whereby question 1 (multiple choices) had 10 items
with a total of 10 marks of which each correct item was worth 1 mark.
Question 2 (matching items) had 5 items with a total of 5 marks, each

correct item was worth 1 mark.

Question 1: Multiple Choice Items

Question 1 aimed at testing candidates’ multiple levels of cognitive domain
such as remembering, applying, analysing and evaluating. In this question,
candidates were required to choose correct answers from the given
alternatives by writing the letters of the correct alternatives beside the item
numbers. The question had 10 items numbered (i)-(x), each consisting five
alternatives lettered A-E. Among the five alternatives one was a correct

answer while the rest were distractors.

The question was attempted by 90,207 candidates which is equal to 100
per cent of the candidates. The candidates who scored 3 to 6 marks were
59.1 per cent which is average; Furthermore, 20.6 per cent of the
candidates scored 0 to 2 marks and their performance was weak; Lastly,
20.3 per cent of the candidates scored 7 to 10 marks. Hence, the general
performance of this question was good because 79.4 per cent of the
candidates scored marks ranging from 3 to 10. Figure 1 presents the

detailed general performance of the candidates on question number 1.
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Figure 1: The Performance of the Candidates on Question 1.

Item (i) in question 1 required candidates to classify the type of story which

was described in the stem.

(i) Hyena and Leopard were best friends, their friendship ended when
Leopard realised that his friend was mean, jealous and coward when
hunting. In life, it is better to have a friend whom you share the same
attitude with. This story may be classified as
A myth B legend C proverb
D idiom E fable

The candidates who chose E, ‘fable’ had chosen the correct response. This
proves that they were able to classify the type of the story in question by
using the given descriptive features. Alternative A ‘myth’ was not the
correct answer, candidates who chose this alternative did not have good
knowledge of the distinctive features of oral stories because ‘myths’ are not
classified based on animal characters. Alternative B ‘legend’ was also not

a correct response because it deals with heroes and their heroic deeds.



Alternative C ‘proverb’ was an incorrect response because ‘proverbs’ are
not types of stories. Rather, they are simply wise statements which portray
the general truth about life experiences. Alternative D ‘idiom’ was an
incorrect response too because ‘idioms’ are not types of stories but they are
expressions whose meanings do not come directly from individual words
that make the expressions.
Item (ii) required candidates to identify the term which is used to refer to a
word that occurs more than once in a verse.
(i)  What term refers to a word that occurs more than once in a verse?
A Refrain B Repetition C Parallelism
D Ellipsis E Contrast

In this item, the correct response was B, ‘repetition. The candidates who
chose this option had enough knowledge pertaining to poetry and had good
command of English language that helped them differentiate ‘repetition’
from ‘refrain’. Alternative A ‘refrain’ was not a correct answer because it is
a repetition of an expression at the end of two or more successive stanzas.
Alternative C ‘parallelism’ was an incorrect answer because it is the
repetition of expressions of similar structure or meaning in two or more
successive verses. Alternative D ‘ellipsis’ was not the correct response
because it is not a repetition but an omission of a word/phrase. Alternative
E ‘contrast’ was not a correct option because it is not a repetition of an

expression but an expression that depicts two contrary ideas.

In item (iii), the candidates were required to give a term referring to the
major division of a play.
(iii) Which literary term is given to the major division of a play?
A Act B Movement C Narration
D Chapter E Scene



The correct alternative for this item was A, ‘act’. The candidates, who
chose ‘act’ as a major division of a play, demonstrated a wide knowledge
of different terms used in different genres of literature. Alternative B,
‘movement’ was not a correct response because it is just a general English
term which is not specifically used as a literary term. The candidates who
opted for C, ‘narration’ were not correct since ‘narration’ is a literary
terminology specifically used in novels and short stories. Alternative D,
‘chapter’ was not the right response because it is a division of novels not of
plays. Alternative E, ‘scene’ was not a correct option because it is the

minor division of a play while an ‘act’ is composed of ‘scenes’.

In item (iv), the candidates were required to show the way the plot of the

play “The Lion and the Jewel” is arranged.

(iv) How is the plot of the play ‘The Lion and the Jewel’, arranged?
A Act and pages
B Act and setting
C Act and scenes
D Act and sections
E Act and chapter

Alternative C ‘act and scenes’ was the correct alternative. The candidates
who got it right understood that the arrangement of plot in all plays is
embedded in ‘act and scenes’ regardless of the title of the play. Alternative
A, ‘act and pages’ was not a correct response because ‘pages’ has no
connection with the plot of a play. Alternative B ‘act and setting” was an
incorrect response because setting shows only time and place while plot
deals much with the order of events and incidents. Alternative D, ‘act and
sections’ was not a correct response because ‘sections’ is just a general

English term which has nothing to do with the arrangement of a play.



Alternative E, ‘act and chapter’ was also not a correct response because

‘chapter’ is not connected to plays but novels.

In item (v), the candidates were required to name a literary term that is used
to express the freedom that is given to poets to break grammatical aspects
in order to suit poetic purposes.

(v) When composing a poem, one deliberately breaks some aspects of
grammar to suit poetic purposes. How is this freedom called?
A Assonance B Poetic language C Consonance

D Poetic license E Meter

Alternative D ‘poetic license’ was the correct response. The candidates who
got it right demonstrated wide knowledge of literary terms particularly
those used in poetry. Alternative A, ‘assonance’ was not a correct response
because it is a sound device which has nothing to do with grammatical
correctness. Alternative B ‘poetic language’ was also not a correct answer
because it does not talk about the freedom to violate grammatical rules.
Rather; it deals with the use of artistic language in conveying the intended
message. Alternative C, ‘consonance’ was not a correct response because it
is @ musical device which deals with sound effect. Alternative E ‘meter’
was not a correct response because it is a musical device which also deals

with creating music/rhythm in poems.

In item (vi), the candidates were required to identify the term used to

describe a character who bears heroic elements.

(vi) Suppose you have been asked to write a story with the main
character that bears heroic elements. How is this character
identified?



A Anantagonist B A dynamic C Around

D A static E A protagonist
Alternative E, ‘a protagonist’ was a correct response because one of the
features of the protagonist character is to bear the heroic deeds for the
benefits of the majority. Alternative A, ‘an antagonist” was not the correct
response because ‘an antagonist’ bears deeds but not heroic ones because
he is against the protagonist for his own benefits or for the minority.
Alternative B, ‘a dynamic’ was not a correct response because ‘a dynamic
character’ is just a subordinate whose personality is affected by the person
around him or her. He is capable of changing his personality and attitudes

at any time in any event and surprises the readers.

Alternative C, ‘a round’ was not a correct response because ‘a round
character’ is not a heroic figure though he/she can be used by the writer to
reveal the traits of the main character. Alternative D, ‘a static’ was not a
correct response because ‘a static’ character does not change his attitudes
throughout the story; Therefore, it is difficult to grow and bear heroic
deeds.

In item (vii) the candidates were required to state the term used to refer to
an example of a verse in a poem that reads ‘sing a song, God is good’
(vii) A verse in a stanza reads, “sing a song, God is good” The quoted
verse is an example of
A Refrain B Alliteration C Dissonant
D Assonance E Parallelism

Alternative B, ‘alliteration’ was the correct response. The candidates who
got it right were able to discriminate different sound devices and realized
that any verse having similar initial consonant sounds is referred to as

‘alliteration.” Alternative A, ‘refrain’ was not a correct answer because a

8



refrain is simply a repetition of the last verse in two or more successive
stanzas.

Alternative C, ‘dissonant’ was not a correct response because’ dissonant’
does not deal with repetition of consonant sounds. Rather, it is a
combination of sounds which do not have harmony. Alternative D,
‘assonance’ was also not a correct response because ‘assonance deals with
repetition of vowel sounds. Alternative E ‘parallelism’ was not a correct
answer because it is a repetition of expressions of similar structure or

meaning in two or more successive Verses.

In item (viii) the candidates were required to substitute the term

‘resolution’ with an alternative term in the elements of plot in a work of art.

(viii) Which element of plot in the work of art can you substitute with
‘resolution’?
A Denouement B Climax C Exposition

D Rising E Oratory

Alternative A ‘denouement’ was the correct response because it is the final
stage in a plot which answers suspended questions just like ‘resolution’.
Alternative B ‘climax’ was not a correct response because it refers to a
point of no return whereby the conflict is in its worst stage. Alternative C,
‘exposition’ was an incorrect response because it is the earliest stage of a
conflict. Alternative D ‘rising’ was not a correct response because it is a
stage of conflict when the conflict is in its immature stage. Alternative E,
‘oratory’ was not the correct response because it is not part of plot; rather it

IS just an art of speech making.

In item (ix), the candidates were required to consider the point of view that

they can use when writing narratives.



(ix) Which point of view is to be considered when writing narratives?
A First person point of view

Character point of view

Omniscient point of view

Second person point of view

m O O W

Narrator point of view

Alternative C, ‘omniscient point of view’ was the correct response because
it is the most used point of view as the writer uses this to act as someone
who tells the story and he/she is the only one who knows everything.
Alternative A, ‘first person point of view’ was not a correct response
because it is limited and the narrator talks about his/her own views and

seems not to know many things.

Alternative B, ‘character point of view’ was not a correct response because
it is not the type of point of view. Alternative D, ‘second person point of
view’ was not a correct alternative because it is rarely used and not suitable
for narrative. Alternative E, ‘narrator point of view’ was not a correct
response because it is limited and the narrator talks about his/her own

views and seems not to know many things about others.

In item (x), the candidates were required to show the advantage of science
and technology in oral literature.
(xX) Which one is the advantage of science and technology to oral
literature?
A Improve unity among the people
Easy to access
It is expensive

Increase the participation of people

m O O @

Makes all people equal

10



Alternative B, ‘easy to access’ was the correct response because with
technology one can easily access any genre of literature by downloading
and listening to literary materials on the internet. Alternative A, ‘improve
unity among the people’ was not a correct response because ‘unity among
the people’ is not brought by science and technology. Alternative C, ‘it is
expensive’ was an incorrect response because ‘being expensive is not an

advantage’ to oral literature.

Alternative D, ‘increase the participation of people’ was also an incorrect
response because science and technology has created a barrier between the
participants of oral literature as it makes people stay apart since many
people isolate themselves when using their technological devices.
Alternative E ‘makes all people equal’ was not a correct response because
science and technology has no ability to make all people equal, still there

are classes of those who can manage and those who cannot.

Generally, the candidates who scored good marks in this question proved
that they had developed a great ability in analysing different concepts,
thinking critically and making sound judgements. Their scores ranged

from 7 to 10 out of 10 marks as seen in the Extract:

! o ’ A sy | e [ I X
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Extract 1.1 is a sample of correct responses to question 1.

However, there were other candidates who had average scores. These ones
demonstrated a partial understanding of some concepts. Their score ranged

from 4 to 6 out of 10 marks as shown in the Extract:

\ l 1 1\ ' 1l { \5Y) 9] Vi |Vt vum \ X | A | L |
le [s[A]B][p]e[o [alc[8] |
Extract 1.2 is a sample of average responses to question 1.
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On the other hand, there were candidates who had weak performance.
Their weak performance was caused by lack of skills in remembering,
applying, analysing and evaluating. Their scored 0 to 3 out of 10 marks as
shown in the Extract:

[ | ] ] ) AR R A
e[ [ AR [=R]P | |BIG D

—

Extract 1.3 is a sample of incorrect responses to question 1.

2.1.2 Question 2: Matching Items
The candidates were required to match the descriptions of narratives in List
A with their corresponding types of narratives given in List B by writing
the letters of the correct responses beside the corresponding items in the
answer booklet provided. The following were the descriptions of the

narratives and their types

Match the descriptions in List A with the corresponding types of figure
of speech in List B by writing the letter of the correct response beside

the item number in the answer booklet(s) provided.

List A List B
(i) A narrative style that interrupts the | A Autobiography
chronological order of events B Myth
(i) A narrative that reveals the achievement of
the hero C Flashback
(iii) A narrative in which one writes about his | P Legend
or her own life history E Biography
(iv) A narrative in which one tells the history of | E  Folk tell
another person .
G foreshadowing

(v) A narrative about the creation of the world
and supernatural forces

12



The question was attempted by 90,207 candidates which was equal to 100 per
cent of the candidates and the general performance on the question was
average because 59.9 per cent of the candidates scored 2 to 5 marks. Out of
whom, 40.1 per cent of the candidates scored O to 1 marks and their
performance was weak. Moreover, 36.7 per cent of the candidates scored 2 to
3 marks. Lastly 23.2 per cent of the candidates scored 4 to 5 marks. Hence,
they performed well. Figure 2 presents detailed performance of the candidates

on question number 2.

45.0

40.1

40.0 36.7
35.0

30.0
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w
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Figure 2: The Performance of the Candidates on Question 2

The analysis shows that those who managed to match the descriptions with
their correct responses had knowledge of the types of narratives which were
described. For example: Description (i) a narrative style that interrupts the
chronological order of events was matched with response C, flashback
because in flashback style the writer is free to start narrating incidents from
the end to the beginning then to the middle or in any other way round;

therefore, it interrupts the logical flow of events.

13



Description (ii) A narrative that reveals the achievement of the hero was
matched with response D, legend because ‘legends’ talks about heroes and
heroism. Description (iii) A narrative in which one writes about his or her
own life history was matched with response A, autobiography because it is
the one that the writer writes about his or her life story. Description (iv) A
narrative in which one tells the history of another person, was matched with
response E, biography because in ‘biography the writer writes about the life

of someone else.

Description (v) A narrative about the creation of the world and supernatural
forces was matched with response B myth because it is the one that talks
about creation of the world and supernatural forces. Generally, candidates
who scored good marks on this question exhibited the knowledge and ability
of understanding the meanings and types of different narratives. They were
also able to differentiate features of one narrative from the other. Their scores
ranged from 4 to 5 out of 5 marks as seen in the Extract below:

P |

i 2. ; L WL Wl eV
l < 2 A &

Extract 2.1 is a sample of correct responses to question 2.

However, there were candidates who scored average marks. They showed
partial mastery of features of a narrative which enabled them to match a few
pairs correctly and others wrongly. Their scores ranged from 2 to 3 out of 5

marks as shown in the Extract:

o | F 1ot | 9 v | v
ETE T T 1t
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|
!
Extract 2.2 is a sample of average responses to question 2.
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On the other hand, the candidates who scored poor marks in this question
indicate to have lacked knowledge of features of narratives, which made
them fail to pair the descriptions with their meanings. One of the candidates
wrote item (i) legend. This shows that the candidate was not aware that
legend is not a plot. Rather it is the type of a narrative. In (ii) the candidate
matched with Autobiography. This proves that the candidate did not know the
meaning of autobiography. Furthermore, the candidate matched (iii) with folk
tale, which proves that the candidate had no knowledge on different
narratives and their meanings. Furthermore, in (iv) some candidates matched
with myths which means the story which talks about great people and most
they are not true stories which was contrary to the expected responses. Lastly,
item (v,) the candidate matched with flashback which is about the plot and
not any kind of narrative. Their scores ranged from 0 to 1 marks as shown in

the Extract below:

Extract 2.3 is a sample of incorrect responses to question 2.

SECTION B: SHORT ANSWER QUESTIONS
This section consisted of 4 compulsory questions; question numbers 3, 4, 5
and 6. The section had 40 marks whereby each question was worth 10

marks.

Question 3 Short Answer
The question was testing the candidates’ ability to evaluate different
functions of literature with reference to “The Lion and the Jewel”.

Candidates were required to provide a brief justification on how literature

15



performs various functions in society by picking examples from “The Lion

and the Jewel.”

Justify each of the following functions of literature by giving one

example from the play “The Lion and the Jewel” by Soyinka, W.

(a)
(b)
(©)
(d)
(€)

Literature criticises the society.
Literature entertains the society.
Literature educates the society.
Literature warns the society.
Literature reflects the culture.

The question was attempted by 90,207 candidates, which was equal to 100

per cent of the candidates and the general performance of this question was

Average because 56.8 per cent of the candidates scored 3 to 10 marks.

Furthermore, 43.2 per cent of the candidates scored 0 to 2 marks and their

performance was weak. Also 42.3 per cent of the candidates scored 2 to 6

marks and their performance was average. Lastly 14.5 per cent of the

candidates obtained 7 to10 marks and hence, their performance was good.

The performance of the candidates on this question is illustrated in Figure 3

below.

16
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Figure 3: The Performance of the Candidates on Question 3

Item (a) required candidates to justify using ‘the Lion and the Jewel” that*
Literature criticizes the society.” The analysis shows that the candidates
who got good scores on this question had the knowledge of all functions of
literature and mastered the play ‘The Lion and the Jewel’. They wrote
about how the play succeeded to accomplish this function. Moreover, they
managed to cite the behaviour of Baroka to use his political power to win
women over for marriage and how that has been criticised in the respective
society. Others justified through Lakunle’s act of leaving pupils in class to
follow Sidi, which has also been criticized by the society as a bad

behaviour.

In item (b), the candidates were required to justify the way literature
entertains the society. The analysis shows that candidates who got good
scores in the item were able to pick relevant incidents from “The Lion and
the Jewel” that portrays entertainment to the society. For example:
Lakunle’s use of figurative language to convince Sidi by saying :“my love

will open your mind like the chaste lead in the morning,” evoked laughter

17



to the audience. When Sadiku and Sidi are looking at the naked carved

figure of Baroka, and they also laugh.

In item (c), the candidates were required to justify the way literature
educates the society. The analysis shows that candidates who got good
scores were able to pick relevant incidents from “The Lion and the Jewel”
that portray provision of education to the society. For example, Lakunle’s
act of leaving the pupil in class unattended to follow Sidi educates the

society that everyone should be responsible in his/her working place.

In item (d), the candidates were required to justify the way literature warns
the society. The analysis shows that candidates who got good scores were
able to pick relevant incidents from “The Lion and the Jewel” that justify
the way literature warns the society. For example, Baroka’s act of
deceiving Sidi and Sadiku that he is impotent warns the society not to trust

everyone in everything that he/she says.

In item (e), the candidates were required to justify the way literature
reflects culture. The analysis shows that candidates who got good scores
were able to pick relevant incidents from “The Lion and the Jewel” that
reflect cultural affairs of the society. For example, Sidi’s act of rejecting
Lakunle’s proposal to marry her without paying bride price reveals the
cultural practices of that society. In addition to that, Baroka’s act of

marrying many wives reflects the culture of polygamy in that society.

Generally, the analysis shows that candidates who got good scores on this
question were able to pick relevant incidents from “The Lion and the
Jewel” to prove the given functions of literature. A sample of a correct -
response is presented in Extract 3.1.
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Extract 3.1 is a sample of correct responses to question 3.

However, there were candidates who scored average marks. They were able
to pick a few relevant incidents from “The Lion and the Jewel” that justify
some functions of literature but failed to justify some of the incidents from
the play. In extract 3.2, the candidate did not manage to justify that literature
entertains the society by creating happiness and evoking laughter and also

the candidate failed to show in detail how the play reveals the functions of

literature. Their scores ranged from 4 to 6 out of 10 marks.
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Extract 3.2 is a sample of average responses to question 3

On the other hand, the candidates who performed weakly failed to pick
relevant incidents from the play. They also failed to understand the
requirement of the question or to express the incidents due to low level of

competence in English language. They scored 0 to 3 out of 10 marks. That
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was categorised as weak performance. In extract 3.3, the candidate failed to

express the incidents using the English language correctly.
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Extract 3.3 is a sample of incorrect responses to question 3

2.2.2 Question 4: Poetry
The question meant to test the candidates’ ability to comprehend a poem by

responding to the questions given after it.
Read the following poem and then answer questions that follow
A Baby is European — by Ewe (Togo)

A baby is European
He does not eat our food

He drinks from his own water pot.
22




A baby is European
He does not speak our tongue

He crosses when the mother understands him not.

A baby is European
He cares very little to others
He forces his will upon his parent.

Questions

(@) Briefly explain what the poem is about?

(b) Briefly explain two literary devices found in the poem.

(©) Which language does the baby speak? Give reason for your answer.
(d) How does the baby treat his own father and mother?

(e) Is the poem relevant to our society? Give a reason for your answer.

The question was attempted by 90,207 candidates which was equivalent to
100 per cent of the candidates; out of whom 60 per cent scored 0 to 2 marks
which was weak performance. Furthermore, 32 per cent of the candidates
got average performance by scoring 3 to 6 marks. However there were 8
per cent of the candidates who scored 7 to 10 marks and that was good
performance. Lastly, the general performance of this question was average
because 40 per cent scored 3 to 10 marks. The performance of the

candidates on this question is illustrated in Figure 4.
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Figure 4: The Performance of the Candidates to Question 4

Item (a) required candidates to explain what the poem is all about. The
analysis shows that the candidates who got good performance on this
question managed to explain that the poem is about an educated African
who has alienated his own people because of his behaviour after being

westernized.

In item (b), candidates were required to explain briefly two literary devices
found in the poem. The analysis shows that the candidates who had good
performance on this question managed to explain figures of speech such as:
symbols; like ‘tongue’ which stands for ‘local language’ and ‘crosses’
which stands for Christianity. Also the poem uses repetition; ‘a baby is
European’ is repeated in the poem. It also uses metaphor; ‘a baby is

European’ whereby European is not judged positively in the poem.

Item (c), the candidates were required to identify, with a reason the
language that the baby speaks. The analysis shows that candidates who had

good performance on this question managed to identify that the boy speaks
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a foreign language. This is because it is said in the poem that the boy does

not speak his mother tongue. Therefore, his mother does not understand.

Item (d), required the candidates to show the way the baby treats his
parents. The analysis shows that the candidates who had good performance
on this question managed to show that the baby does not respect his parents

because he forces them to obey whatever he says.

Item (e) required the candidates to show the relevance of the poem to the
society. The analysis shows that candidates who got good performance on
this question managed to pinpoint the way some people in their immediate
environment disrespect and mistreat their parents. One of the reasons for
their good scores was that they were able to compose correct and

grammatical sentences in English language.

Generally, the candidates who had good performance proved that they
possessed ability to comprehend poems by responding correctly to the
questions given after. They scored 7 to 10 marks which are categorised as
good performance as shown in the sample:
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There were candidates who scored average marks. These candidates
demonstrated partial ability to comprehend poems, which made them
answer well some items of the question but they failed to provide the
correct answers for other items. They scored 4 to 6 out of 10 marks which

are categorised as average performance. In extract 4.2, the candidates failed

Extract 4.1 is a sample of good responses to question 4.

to differentiate between simile and metaphor as literary devices.

cand

idates mentioned ‘simile’ as a literary device but explained and gave

an example of a ‘metaphor,’
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Extract 4.2 is a sample of average responses to question 4.

On the other hand, the candidates who had weakly performance failed to
comprehend the poem. Therefore, they failed to provide correct answers to
the questions. They scored 0 to 3 marks which are categorised as weak
performance. In Extract 4.3, the candidate failed to provide the correct
answers for the given items.
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Extract 4.3 is a sample of an incorrect response in question 4.

2.2.3 Question 5 Short Answer
Question 5 was testing candidates’ ability to apply their knowledge of
literature by providing correct explanations for each of the given items (a-

e):

Write the correct answer for each of the item (a) — (e) in the answer
booklet provided.

(@) How isthe plot arranged in a play?

(b) When a playwright uses mime as one of the devices of literature,
how are his or her characters expected to behave in the literary
work?

(c) Why is aesthetics important in a work of art? Briefly explain.

(d) How can the poet apply metaphor in a verse?

(e) What is the major function of a setting in a literary work?
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The question was attempted by all 90,207 candidates. Out of them 68.9 per
cent scored 0 to 2 marks which was indicative of weak performance.
Furthermore, 26.2 per cent of the candidates got average performance by
scoring 3 to 6 marks. However 4.9 per cent of the candidates scored 7 to 10
marks and got good performance. Lastly, the general performance on this
question was average because 31.1 per cent scored marks from 3 to 10
marks. The performance of the candidates on this question is illustrated in
Figure 5.
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Figure 5: The Performance of the Candidates on Question 5

Item (a) required candidates to explain the way plot is arranged in a play.
The analysis shows that the candidates who got good performance on this
question managed to explain the fact that a play is arranged in small
divisions called scenes and the collected scenes make up a major division

known as acts.

Item (b) required the candidates to explain what characters would be doing

in a play when a playwright uses mime as one of the devices in literature.
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The analysis shows that the candidates who had good performance on this
question managed to explain that characters will be making movements and

gestures without uttering words.

Item (c) required candidates to give reasons that make aesthetics important
in the work of art. The analysis shows that candidates who had good
performance on this question managed to explain that aesthetics makes a

work of art beautiful and attractive to the audience.

Item (d) required candidates to show how a poet applies metaphor in a
verse. The analysis shows that candidates who demonstrated good
performance on this question were able to state that metaphor is used when

there is a comparison of two dissimilar things without using conjunctions.

Item (e) required candidates to explain the major functions of setting in a
literary work. The analysis shows that candidates who had good
performance on this question were able to state that the major function of

setting is to show when and where the actions take place.

Generally, the candidates who demonstrated good scores showed to have
ability to apply the knowledge of literature by providing correct
explanation for each of the given items. They were also able to express
their knowledge of concepts in a well and logically organised English.

Their scores ranged from 7 to 10 out of 10 marks.
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Extract 5.1 is a sample of correct responses to question 5.
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However, there were candidates who scored average marks. They
demonstrated partial ability to apply their knowledge of literature since they
failed to provide the correct explanation for some given items. Their scores
ranged from 4 to 6 out of 10 marks. In extract 5.2, the candidate failed to
state that the character will be making movements and gestures without
uttering words when he/she mimes; instead, the candidate said that

characters are expected to be ‘funny’.
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Extract 5.2 is a sample of average responses to question 5.

On the other hand, the candidates who performed weakly failed to

demonstrate ability to apply their knowledge of literature since they could

not provide correct explanations for some given items. They scored 0 to 3

out of 10 marks. In Extract 5.3, the candidate demonstrated poor writing

skills and inability to understand the question and failure to apply
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knowledge of literature and failed to express him / herself in the English

language.
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Extract 5.3 is a sample of incorrect responses to question 5.

2.2.4 Question 6 Short Answer
Question 6 was testing candidates’ ability to apply, analyse, evaluate and
create by using different literary concepts. Specifically, the question

required the candidates to write short answers on the given items.

Write short answers for each of the items (a) — (e) in the answer booklet
provided.
(@) Why is foreshadowing used in drama or novels?
(b) Why is the resolution important in the development of a plot
of a literary work? Briefly explain.
(©) How is a dynamic character developed?
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(d) Using the concept of characterization, briefly explain the
statement that; “the novelist is a creator”.

(e How can one use irony to convey message? Briefly explain.

The question was attempted by all 90,207 candidates. Out of them 70.7 per
cent scored 0 to 2 marks which is indicative of weak performance.
Furthermore, 24.0 per cent of the candidates had average performance by 3
to 6 marks. However 5.3 per cent of the candidates who scored 7 to 10
marks and got good performance. Lastly the general performance of this
question was average because 29.3 per cent scored marks from 3 to 10. The

performance of the candidates on this question is illustrated in Figure 6.
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Figure 6: The Performance of the Candidates on Question 6

Iltem (a) required the candidates to give reasons on the usage of
foreshadowing in drama or novels. The analysis shows that the candidates
who had good performance on this question were able to state that
foreshowing is used in drama or novels to prepare readers or audience for

eventual outcome of the action through hints of the forthcoming events.
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Item (b) required the candidates to give reasons on why resolution is
important in the development of a plot of a literary work. The analysis
shows that candidates who had good performance on this question were
able to state that resolution is important because it is the point at which
problems and conflicts are expected to be resolved or it makes readers
enjoy the story since the suspended questions which might have been

developed in the course of reading get answers.

Item (c) required the candidates to explain how a dynamic character is
developed. The analysis shows that candidates who performed well on this
question were able to state that a dynamic character is developed by
subjecting him/her to actions or events which affect his/her personality and
thus the character changes his/her behaviour or attitudes towards a person,
object or thing.

Item (d) required the candidates to briefly explain the statement that “a
novelist is a creator” by using the concept of characterisation. The analysis
shows that candidates who had good performance on this question were
able to explain that a novelist is regarded as a creator because he / she
creates imaginary people and gives them qualities of human beings, make
them live as human beings.

Item (e) required the candidates to explain the way irony can be used to
convey message. The analysis shows that candidates who demonstrated
good performance on this question were able to explain that irony can be
used to convey message by presenting the opposite of the reality so as to
draw attention and make the intended person focus on the discrepancy of

what is said and what the reality is.

Generally, candidates who showed good performance on this question

managed to apply their knowledge of literature by providing the correct
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explanation for the given items with good writing skills and good command

of the English language (a-e). Their scores ranged from 7 to 10 marks.
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Extract 6.1 is a sample of correct response on question 6.

However, there were candidates who got average scores. They managed to
provide correct explanation for few items but failed to explain others. Their
scores ranged from 4 to 6 out of 10 marks. This performance was
categorised as average. In extract 6.2, the candidate said that a novelist
chooses the characters instead of creating, moulding, naming and

developing the character and their attributes.
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the correct explanations for the given items. Their scores ranged from 0 to

3, whi

candidate showed inability to: apply knowledge of the terms used in

Extract 6.2 is a sample of average responses on question 6.

other hand, the candidates who performed weakly failed to provide

ch was categorised as weak performance. In Extract 6.3, the

literature and to express them in English language.
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Extract 6.3 is a sample of incorrect responses question 6.
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2.3

2.3.1

SECTION C: ESSAY QUESTIONS

This section comprised of 4 essay-type questions; question numbers 7, 8, 9
and 10 with a total of 45 marks, in which cases each question carried 15
marks. Candidates were required to answer questions 7, 8 and any other
question between question 9 and 10 with reference to the recommended

readings.

LIST OF READINGS

PLAYS

The Lion and the Jewel - Soyinka, W.
The Trials of Brother Jero - Soyinka, W.
The Dilemma of a Ghost - Aidoo, AA.

The Government Inspector  -Gogol, N.

NOVELS

A Walk in the Night and Other Stories — Guma, A
Houseboy — Oyono, F

The Old Man and the Medal — Oyono, F

The Concubine — Amadi, E

POETRY
Selected poems — Tanzania institute of Education
Growing Up with Poetry —Rubadiri, D

Question 7 Plays

The question intended to test candidates’ ability to evaluate the argument
that “Literature does not exist in a vacuum, it lives and talks about what is
happening in the society.” By using two plays; “Dilemma of a Ghost” by
Christina Ama Ata Aidoo and “The Lion and the Jewel” by Wole Soyinka,

the candidates were required to defend the given contention.
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“Literature does not exist in a vacuum, it lives and talks about what is
happening in the society.” Defend this contention by referring to two plays;
Dilemma of a Ghost by Christina Ama Ata Aidoo and The Trials of Brother
Jero by Wole Soyinka. Give three points for each play.

This question was attempted by 90,207 candidates which was 100 per cent
of the candidates. The performance on the question was average since 47.9
per cent of the candidates scored 5 to 9 marks. By contrast, 27.9.per cent of
the candidates scored O to 4 marks. Hence, they performed weakly, lastly,
24.2 per cent of the candidates scored 10 to 15 marks. Therefore, the
general performance on the question was good since 72.1 per cent scored 5
to 15 marks. They, therefore, performed well. The overall performance on

this question is illustrated in Figure 7.

60.0

50.0 47.9

40.0

279

300 24.2

20.0

10.0

Performance of the Candidates

0.0
0-4.0 5.0-9.0 10.0-15.0

Scores

Figure 7: The Performance of the Candidates on Question 7

The analysis of the candidates’ responses indicates that those with good
performance understood the question well and had good understanding of
the plays they used as references. These candidates, due to their good

understanding of the plays, managed to identify issues that are discussed in
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the play and how they are in real life. In “The Dilemma of the Ghost”, by

Christina Ama Ata Aidoo, the happenings in the society are as follows:

The cross-cultural marriage between Ato and Eulalie causes conflict
between Ato and his culture because Ato’s wife fails to cope with African
customs. This symbolises her rejection of the culture. As a result the couple
itself find themselves in a conflict. In today’s societies, there are people
who marry each other without considering their cultural differences. As a
result they get into conflicts because marriage involves other members of

the society who may have different views.

There is dilemma in the society as Ato’s family fails to accept Eulalie
therefore he is in dilemma which way to side between his wife and his
people’s sides and Ato is also is in the dilemma of which culture he has to
perform Western and African culture. This is seen in current societies
where many youths find themselves in dilemma on whether to follow their

families or their spouses when conflicts arise

Alienation is seen when Ato decides to go against the African culture by
planning when to have children, which could be God’ given. Ato also gets
married to Eulalie who smokes cigarette. This makes Ato more alienated
from his family. This is relevant to the current African societies where
partners practise family planning. They also fail to stop each other from
doing what they like when other members of the society impose their

opinions, conflicts occur.

Ato’s people protest against western culture such as Eulalie’s smoking and
drinking beer habits while Eulalie protests against them wondering who

actually married her; Ato or his people. This situation matches with what
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happens in the current society where married couples do not want to be
interfered in their life by anyone.

Ato’s people are also disappointed by their son marrying whom they call a
daughter of a slave. Initially Ato thought of creating a paradise by marrying
Eulalie. However his expectations ended being a tragedy. In the society
many people are disappointed when their expectations do not come as they

wished.

In “The Trials of Brother Jero” by Wole Soyinka, the happenings of the
society are as follows: The role of religion and the existence of fake
prophets are portrayed through Brother Jero. The writer depicts religion as
a business that is used by some people to earn money. He uses the
advantage of his blind worshippers like Chume by keeping them
dissatisfied so that he can continue exploiting them. As similar situation is
found in our societies today where there are lots of fake prophets who

exploit their followers by different contribution under the name of God.

The playwright has also shown the problem of corruption among
government officials who become rich just because they take bribes. For
example; Amope wants her husband to do the same so that they can
improve their living condition. Most current societies are also full of
corruption; that is to say governments are trying harder and harder to stop
it.

Hypocrisy is also happening in the society as the playwright portrays it
through Brother Jero who pretends to be a man of God who preaches about
water but he drinks wine. This means that his preaching is contrary to his
deeds. In today’s society, hypocrisy is practised in many ways. That is why
most of the literature takes it as an issue to air out. Exploitation is also

depicted through Brother Jero who takes advantage of his blind followers
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like Chume by keeping them dissatisfied with the life in all ways so that he

continues exploiting them.

Betrayal is portrayed through Brother Jero who takes his old mentor’s piece
of land for his own benefits. He also betrays his followers who trust him as
their true prophet who will make their dreams come true. This is relevant
because people like Brother Jero who pretends to preach about God but

they have another intention of enriching themselves.

Poverty is portrayed through Chume and his wife who live a very difficult
life because they cannot get enough basic needs. That is why Amope keeps
on insisting that Chume accepts taking bribe. This is relevant to the current
society as there are many wives who are not satisfied with their life
situations which is full of poverty and so they pressurise their husbands to

commit evils.

Generally, the analysis shows that candidates who had good performance
on this question were able to defend the contention by identifying and
explaining the happenings from the society which justify the fact that
literature is a product of the society and that is does not come from vacuum.
They were able to pick relevant examples from the recommended texts and
made sound defence over what they were asked to do. Their scores ranged

from 11 to 15 marks.
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Extract 7.1 is a sample of good responses to question 7
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On the other hand, the candidates who performed weakly failed to justify
the contention by identifying and explaining the happenings from the
society. Their scores ranged from O to 5 out of 15 marks which are
categorised as weak performance. In Extract 7.3, the candidate failed to

express the happenings from the society which could help him / her defend

Extract 7.2 is a sample of average responses to question 7.

the contention.
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2.3.2 Question 8 Poetry
The question was testing candidates’ ability to support the argument that
“Poems are rich in figures of speech” by using two poems.
It is argued that, poems are rich in the use of figures of speech. Support
this argument with reference to two poems. Give three points for each

poem.

This question was attempted by all 90,207 candidates. The performance on
the question was average since 47.9 per cent of the candidates scored 5 to 9
marks. On the contrary, 27.9.per cent of the candidates scored 0 to 4 marks.
Hence, they performed weakly. Lastly, 24.2 per cent of the candidates
obtained marks ranging from 10 to 15. Therefore, the general performance
on the question was good since 69.0 per cent scored 5 to 15 marks. The
performance of the candidates on this question is illustrated in Figure 8.

38.0
37.0 - 36.6
36.0
35.0 -
34.0 -
33.0 32.4
32.0 -
31.0
30.0 -
29.0 -
28.0 -

31.0

Performance of the Candidates

0-4.0 5.0-9.0 10.0-15.0
Scores

Figure 8: The performance of the candidates on question 8
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The analysis of the candidates’ responses indicates that those with good
performance understood the question well and had good understanding of
the figures of speech used in the poems chosen. They first selected the
required poems and showed one by one different figures of speech in those
poems. In the poem “An abandoned bundle” by Oswald Mbuyiseni Mtshali
there is the use of simile. Simile refers to the comparison made by using
conjunctions such as like, as...as, same as, similar to etc. The poet uses
simile to compare the smoky nature of the sky with pus that oozes and the
manner of the houses congested like fish in a net.

“... it smothered our little houses

Like fish caught in a net...”
There is also the use of imagery. Imagery is the creation of mental picture
by using words. It has been used in the poem “...they barred their fangs,”
which appeals to the sense of sight. Also “scurried away” shows a sense of
motion. It shows how dogs moved when they ate the abandoned baby.
Irony which refers to saying the opposite of what one means for artistic
effect has also been used. In the poem the poet wonders as to why a person
who has Killed could look innocent and be with a pure heart. “... its mother
had melted into the rays of the rising sun

Her face glittering with innocence

’

Her heart as pure as untrammeled dew ...’

In the poem “Eat more” by Joe Corrie, personification has been used. The
slogan has been given the ability of speaking as if it were a human. “Eat
more fruit! The slogan says... ” Furthermore there is symbolism; as the poet
used “bloody grass’ which stands for poverty. That is, poor people cannot
afford food stuffs that are advocated in the slogan because of low income.
Another instance of irony is when the poet speaks of earning more pay out
of unemployment. “but I'm on unemployment more pay”. This has been

used to mock the slogan.
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In the poem “Logic” by Kajubi the poet has used simile. The poet calls rich
people who use their money to deceive young girls as cowards. Simile has
been used to compare the age of the rich man and the persona’s father.
Moreover, imagery has been used. In the poem, there is a description of a
poor person who is forced to wear a dirty big bugaloo full of patches

because of his poverty.

“...When I put on my big bugaloo

Dirty and literally made up of patches...”

Irony has been used in the poem when leaders who do not deserve
congratulations for the healthy fringe benefits pretend that they go to the
backward village to inspect farms. Here, the poet says the opposite to mock

the leaders who have forgotten the development of backward villages.

In the poem “Letter from a contract worker” by Antonio Jacinto, the poet
has used symbolism for example the poet uses “nights” to mean evils that
the love which the contract worker makes with his lover is an illegal one.
“Long grass” is used to stand for poverty that the contract worker is poor

that is why he makes love in the bush.

In the poem, imagery is also seen when words such as “moon”, “palm
trees” and “madness of passion” have been used by the poet to create the
image of love making. “the moon filtering through the endless palms, To
bring back the madness” of our passion” Furthermore, personification has
been used. In the poem ‘“cashews and coffee trees, the hyenas and
buffaloes” have been given the ability to understand the letter which would

be written by the contract worker.

“a letter which the passing wind would take
A letter with a cashew and coffee trees
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The hyenas and the buffaloes
The cay mans and the river fish
Could hear”

Generally, the analysis shows that candidates who had good performance

on this question were able to support the argument by giving examples

from two poems. They were able to pick

relevant examples from the

recommended poems. The following extract provides an example of a

candidate whose scores ranged from 11 to 15 marks; which is categorised

as an instance of good performance.
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Extract 8.1: A sample of correct responses to question 8.
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However, there were candidates who scored average marks. They
managed to partially support the argument. Their scores ranged from 6
to 10 marks, which is categorised as average performance. In extract 8.2,
the candidate failed to quote the actual anaphora “my son...” instead the
candidate quoted ‘’the boy...” which is not an anaphora in that poem.

Also, the conclusion given was not relevant to the question.
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Extract 8.2: A sample of average responses on question 8.

On the other hand, the candidates who performed weakly failed to support
the contention and to use language grammatically in answering their
question. They scored 0 to 5 marks and their performance was categorized

as weak.
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Extract 8. 3 A sample of incorrect responses to question 8.

62




2.3.3 Question 9 Novels
The question required candidates to justify the statement that “Some

characters are not accepted in their societies” by using two novels.

Some characters are not accepted in their society. Justify this statement
using two novels read. Give three points for each novel.

The question was attempted by all 90,207 candidates. Out of them, 19.9 per
cent of the candidates scored 0 to 4 marks which is weak performance.
Furthermore, 49.6. per cent of the candidate had average performance by 5
to 9 marks. However, there is 30.5 per cent of the candidates who scored 10
to 15 marks and had good performance. The general performance on this
question was good because 82.5 per cent scored 5 to 15 marks. Figure 9

presents detailed performance of the candidates on question number

9.
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Figure 9: Performance of the Candidates on Question 9

The analysis of the candidates’ responses indicates that those with good
performance understood the question well and had good understanding of

the novels they used as references. These candidates, managed to identify
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the characters and the reasons as to why they are not accepted in their
society. In “the Old man and the Medal” by Ferdinand Oyono the following
are reviled: The District commissioner is a hypocrite and a betrayer. He
pretends to be a friend of Africans but he exploits and oppresses them. He
gaves Meka a medal and says that French men value his contribution but
later, he betrays him. Meka is beaten, arrested and finally jailed because of
the District Commissioner. Therefore, the whole society views the District
Commissioner as an oppressor, a betrayer and a hypocrite. This character is

not acceptable in society.

Another thing observed is that the police are the machinery of the
government. They are brutal and cruel. They arrest and torture Africans
who go against the French rule. They are responsible for the sufferings of
the innocent people. In that case, they are not accepted by the society. For
example, Gullet who is chief of the police in the French colonial state in
Cameroon forces people to move with “pass” paper (the laws protecting the
interests of the white). Gullet is regarded as a misfit in the society because
he creates hatred between the blacks and the whites.

In “the Concubine” by Elechi Amadi, Madume is portrayed as a village
bully. He is revengeful and a land grabber. He invades Thouma’s compound
and cuts banana plantations. He is not acceptable in the society because he
leads people into hatred, conflicts and family instability. Another character
is that of Wonuma (Ahurole’s mother). She badly advises her daughter to
give love potion to her husband Ekwueme to make him love her. This is a
misfit character because she has caused conflicts, sufferings and family

disintegration.

Another unacceptable character is Agwoturumbe (Dibia) who cheats

Ekwueme that he could blind the Sea - King to make the marriage between

him and Thuoma possible. This character does not fit to the society because
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he causes instability in marriages. Also, the Sea - King who is Thouma’s
husband in the spiritual world is feared as he is jealous and revengeful to
anyone who would marry lThuoma. This character is not acceptable’ in the

society as he uses supernatural powers to kill people.

In “A walk in the night” by Alex La Guma, there is John Abraham who is a
traitor. He cooperats with policemen and betrays Willieboy by wrongly
accusing him of wrongly killing Uncle Doughty. The effect of this is that
Willieboy is innocently killed by the police. This character is bad because

he encourages people to betray each other in society.

Another character is Constable Raalt who is irresponsible and frustrated.
He spent his time buying cigarette at the Portuguese shop instead of rushing
the wounded Willieboy to hospital. For that reason he is responsible for the
death of the innocent boy (Willieboy). This character is a misfit in his
society because he is not accountable to his people and he puts people into

conflicts and death.

Andrus — (driver in the patrol van) is another character with unacceptable
behaviour. He does not sympathize even when a big number of the black
population and coloured kill each other. He is not fit because of being
unsympathetic. Lastly is Frank Lorenzo who blames his wife for becoming
pregnant against his will. He is a misfit character as he causes trouble to his

own family and thereby brings about.

In “the Houseboy” by Ferdinand Oyono, There is M. Moreau (the prison
director). He is highly promiscuous. He gets involved in love affairs with
the Commandant wife. He uses his position as a leader to get involved in

extra marital affairs. He is not acceptable in society because of his
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behaviour. Also, Farther Gilbert is an exploiter and inhuman as he

employed and assigned Toundi a lot of work to do without paying him.

Madame Suzy is married to the commandant but she is involved in extra
marital affairs with the prison director (Moreau). This character is a misfit
in her society as she might cause unfaithfulness and lead into family break
up. Another instance is manifested through Toundi’s father who gives
excessive punishment to his son (Toundi) thereby making him seek refuge
from Father Gilbert. This character is a misfit because he might lead to

family conflicts and separation.

Generally, the analysis shows that candidates who demostrated good
performance on this question were able to justify the statement by giving
examples from two novel. They were able to pick relevant behaviours of
characters which make them unacceptable in the societies. scores ranged

from 10 to 15 marks are categorised as good performance.
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Extract 9.1: A sample of correct responses to question 9.
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There were also candidates who scored average marks. They managed to
partially justify the statement by picking examples from the novels. They
scored 6 to 10 marks, which was categorised as average performance. In
extract 9.2, the candidate failed to mention the name of the character

‘Gullet’. Instead he/she called him as ‘chief of the whites. Furthermore a




candidate in this category provided an irrelevant conclusion. This is shown

in the extract that follows:
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On the other hand, the candidates who performed weakly failed to justify
the statement using examples from novels. Their scores ranged from 0 to
5 out of 15 marks. This was categorised as weak performance. In extract

the candidate failed to provide the relevant information as required

9.3,

Extract 9.2 A sample of average response to question 9.

by the question.
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Extract 9.3: A sample of incorrect responses to question 9.

2.3.4 Question 10 Novels
In this question, the candidates were required to choose two novels and
examine all the social challenges that face the characters in their daily life.
The question intended to test the candidates’ ability to explain the
challenges that people are facing people in their daily life. The question
read;
“With reference to any two novels read, examine the social challenges
which face characters in their daily life. Write three points from each

novel .
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The question was attempted by 90,207 candidates which is equal to 100 per
cent of the candidates. The candidates who scored 5 to 9 marks constituted
53.7 per cent, which was regarded as average performance. Furthermore,
35.3 per cent of the candidates scored 10 to 15 marks and their performance
was good. Lastly, 11.1 per cent of the candidates obtained 0 to 4 marks.
Hence, the general performance on this question was good because the
candidates who scored 5 to 15 marks were 89.0 per cent. The performance
of the candidates in this question is illustrated in Figure 10.
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Figure 10: The Performance of the Candidates on Question 10

The analysis of the candidates’ responses illustrates that the candidates
whose performance was good were 35.3 per cent. These had clearly
understood the question. They were familiar with the books stated as their
references. They managed to pick the right challenges from the right
texts. They also managed to cite relevant challenges and events which face

the characters in their everyday life.

76



In “Houseboy” by Ferdinand Oyono, a number of challenges are depicted.
One of the challenges is ignorance. Africans are shown not to be aware of
certain basic things in their life and this sometimes puts them into conflicts
with other people. For example, Toundi gets into conflict with Madam

Suzy because of his ignorance about condoms and their uses.

Also, there is humiliation as a challenge people of lower classes who are
always not valued by higher class people. For example the Commandant
and Father Gilbert beat Toundi several times for no clear reason. On one
occasion Toundi is stripped off naked and stays so for a long time when
they suspect him of having stolen their money. Moreover, there is
oppression. There is a tendency of people who are in power to deny some
rights of those who have no power. For example, the Prison Director arrests
and beats Toundi almost to death.

Apart from that there is poverty as another challenge challenges that people
face. Some people are in a very poor life situation (Toundi and his parents)
to the extent that they cannot afford basic needs. For example, the house of
Toundi’s father is cracked in a way that a person from outside can see those

who are inside.

In “The Old man and the Medal” by Ferdinand Oyono; there is ignorance
which is manifested as another challenge. Some Africans are not aware of
various issues. Hence they are easily deceived and lose their properties. For
example, Meka is deceived by the Frenchmen and his land is confiscated.

Furthermore, frustration is among the challenges which face people. People
have problems which do not get solutions. For example people in Meka’s
village like the Doum their local beer. They drink even in the morning as a

way of trying to forget their problems.

77



Oppression is yet depicted as another challenge. Africans are not valued by
the colonial government. They are forced to have identity cards wherever
they go. Meka, for example, is asked by the police constables to provide his
identity card and when he fails to do so he is beaten and arrested.

Betrayal is another of the challenge that people suffer from as shown in the
novel. There are people who are betrayed by the people they trusted in
various ways. For example, Meka is betrayed by the Catholic Church after
he has offered his land to build the church. Meka remains poor and lives in

a hut in his village, Doum.

In “A Walk in the Night” by Alex La Guma, One of the challenges in this
book is racial segregation. Africans are not free to go to some areas which
are claimed to be only for Europeans. For example, the beaches at the Cape
are only for the whites; Africans are not allowed to go there. Also, there is
oppression. Innocent Africans are denied their right to live. They are being
killed by the whites without any reason. For example, Willieboy is shot to
death by the Constable Raalt when he is suspected to have killed Uncle
Doughty. However, humiliation is also the challenge that faces the people.
Africans are mistreated by Europeans in various ways. Hence, their dignity
is lost. For example, the white sailors pick African girls at Gipsy’s Sheben

and touch them in various parts of their bodies without respect.

Another challenge is frustration. Some people are frustrated because they
face problems which are not solved. Uncle Doughty is frustrated after being
deserted by the government despite serving in the Great War. He, therefore,
becomes a drunkard and his health keeps on deteriorating. Moreover,
poverty challenges the people. Africans are very poor and they suffer
because of that poverty. For example, Franky Lorenzo lives in a very poor
house with his wife and children. Uncle Doughty also lives in a very poor

house despite being a white man. Lastly betrayal is another challenge.
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Some people betray those who are close to them for different reasons in
their life. John Abraham, for example, betrays Willieboy to the white
policeman, Constable Raalt.

Generally, the analysis shows that candidates who had good performance in
this question were able to examine the social challenges which face
characters in their daily lives. They were able to pick relevant social
challenges that face the characters. They scored 10 to 15 marks and hence
they demonstrated good performance. The extract that follows provides a
sample of good response.
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Extract 10.1: A sample of correct responses to question 10.
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There were also candidates who scored average marks. These ones had
partial ability to examine the social challenges which face characters in
their daily lives. Their scores ranged from 5 to 9 out of 15 marks. That was
categorised as average performance. In extract 10.2 the candidate tried to
pinpoint the challenges characters face but they face difficulties in
expressing the incidents because of low competence in using the English

language.
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Extract 10.2: A sample of average responses to question 10.
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On the other hand, the candidates who performed weakly in this question
failed to examine the social challenges which face characters in their daily
lives. Their scores ranged from O to 4 out of 15 marks and that was
categorised as weak performance. In extract 10.3, the candidate failed to
understand the question. That candidate faced some difficulties in
expressing the incidents because of low competence in using the English

language
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Extract 10. 3 is a sample of incorrect responses to question 10.
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3.0

4.0

5.0

PERFOMANCE OF THE STUDENTS ON EACH TOPIC

Four topics were examined: Appreciating Plays, Introduction to Literature,
Appreciating Poetry and Appreciating Novels. There was only one topic
with a good performance of 86.1 per cent. This was Appreciating Plays,
from which question 5 and 7 were tested.

The rest of the topics had an average performance, Introduction to
Literature had 48.2 per cent (question 1, 2 ,3 and 6), Appreciating Poetry
46.6 per cent (question 4 and 8), and Appreciating Novels 37 per cent
(question 9 and 10).

The analysis shows that the candidates faced some difficulties in
answering questions from Appreciating Novels, Appreciating Poetry. In
poetry, the candidates failed to interpret poems. They also failed to
Introduction to Literature.

CONCLUSION

The analysis of the candidates’ performance in the 024 Literature in
English in 2021 shows that, the performance was good because 79.56 per
cent of the candidates passed the examination with different grades. The
performance per topic indicates that Appreciating Plays was performed
well by students at 86.1 per cent while Appreciating Novels was well
performed by only 37 per cent of the candidates.

The analysis has generally shown that there were candidates who wrote
their responses in clear language, and they also showed good mastery of
the competences which were tested. However, some of the candidates
lacked knowledge and skills in reading and writing. It was also evident
that some candidates’ ability to understand some questions was low.

RECOMMENDATIONS

In order to improve the performance of the candidates in 024 Literature in
English in the future, the following recommendations need to be taken into
account.

(@) It is suggested that the use of the English language in schools should
be given a priority to teachers and students in order for the
candidates to improve their writing and understanding skills that are

used in writing during examination.
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(b)

(©)

(d)

In order to make candidates competent in answering questions about
Literature in English, the Think Pair Share (TPS) style in teaching
should be used so that students are able to think critically and apply
the knowledge and skills gained from the work of art that are used in
class.

From the candidates’ responses, it was evident that the candidates
failed to correctly answer the questions related to form as a key
element of literature. The teachers are therefore advised to
effectively teach it with the same weight as they do when teaching
content.

Most of the candidates failed to answer the question on poetry.
Therefore, it is recommended that teachers should put more effort in
teaching poetry; specifically how to interpret poems.
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Table 1 Appendix A Summary of the Candidates’ Performance by
Topic in the 2021CSEE

S/IN TOPICS PERCENTAGE REMARKS
1. | Appreciating Plays _
2. | Introduction to Literature 48.2 Average
3. | Appreciating Poetry 46.6 Average
4. | Appreciating Novels 37 Average

Table 2: Appendix B Percentage of the candidates’ performance in
each section

SIN Section Question
Number
1
2 B 39.3
3

88

Percentage of the
Candidates who Had
the Average of 30 Per
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